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NDA EXAM
PART 'A’

Directions (Qs. 1 to 8): Read the
following passage carefully and answer
the questions given below it. Certain
words/phrases have been printed in bold
to help you locate them while answering
some of the questions.

A few weeks ago, a newspaper article
quoted a well known scientist saying, "IT
has destroyed Indian science”. One can
speculate about the various ways in which
the growth of the IT sector and other similar
knowledge industries such as biotechnology
has led to a decline in basic scientific
research in India. The most obvious reason
IS money; pay scales in IT and BT are much
higher than one can aspire to in academia.
The argument goes: why should a bright B.
Tech, or M.Sc. Student enroll in a Ph.D.
programme when she can make a lot more
money writing code? Not only does a fresh
IT employee make a lot more than a fresh
M.Tech. Student, his/her pay will rise much
faster in IT than in academia. A professor's
pay at a government-run university, even
after the Sixth Pay Commission, tops out at
far less than a senior executive's salary in a
major industry. Second, the social Status of
IT and BT Jobs equal or even exceed the
social status of corresponding academic
positions, since they are seen as knowledge
industries, which plays to the best and worst
instincts of the societal Order. As
quintessential white collar professions,
neither do they compel a successful
entrepreneur to resort to violence and
corruption, nor do they demand any
physical labour. Unlike real estate or road
construction, it is feit that IT workers can
become rich while staying honest and
sweat-free. Assuming that the labour pool
for academia and IT is roughly the same,
the difference in our collective preferences

biases the labour market towards IT and
away from academia. Further, when the
imbalance between IT and academia
continues for years and even decades, a
destructive loop, from academia’s point of
view, is created. When our best and
brightest take IT jobs over academic ones
for a decade or more, faculty positions in
our universities and research centres are no
longer filled by the best candidates. As
faculty quality goes down, so does the
capacity to train topclass graduate students
who, after all, are teachers in training. In
response to decreasing faculty quality, even
those students who otherwise choose an
academic profession, decide to join industry
Or go abroad for their studies. These
foreign trained graduates prefer to come
back to corporate India — if at all they do
come back — and the downward cycle
replicates itself in each generation. In other
words, academia is trapped within a perfect
storm created by a combination of social
and economic factors. In this socio-
economic calculus, the members of our
societal classes should prefer an IT job to
an academic one. Or, to put it another way,
the knowledge economy, i.e., the creation
of knowledge for profit, trumps the
knowledge society, i.e., the creation of
knowledge for its own sake or the sake of
the greater good. As is said, “knowledge is
power, but money is even more power.”
Perheps the scientist was alluding to this
victory of capitalism over the pursuit of
pure knowledge when he accused IT of
having a negative influence on Indian
science. Surely, knowledge has become a
commodity like any other and as a result,
knowledge workers are like any other
labourers, who will sell their wares to the
highest bidder. One Solution is to accept
and even encourage the commoditization of
knowledge; if so, Indian universities and
research centres should copy their western
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counterparts by becoming more and more
like corporations. These centres of learning
should convert themselves into engines of
growth. In this logic, if we increase
academic salaries and research grants to
match IT paycheques we will attract good
people into academia, where, in any case, it
Is rumoured that a certain elusive feeling
called ‘the quality of life’ is better.

1. According to the passage what did the
scientist actually mean when he said, “IT
has destroyed Indian Science?”

(@) The centresmeant for Scientific research
are being utiliized by IT industries

(b) The IT industry does not employ people
pursuing higher studies

(c) As information is readily available on
the internet because of IT, there is no need
to seek further information

(d) IT has distorted the truth as stated by
indian science

(e) The desire for money has overshadowed
the search for knowledge

2. Which of the following is possibly the
most appropriate title for the passage ?

(@) Is the Future of IT Bright ?

(b) The IT Industry and the World
Economy

(c) Research and Academics — Losing the
Battie Against IT

(d) Scientific Research and the Need for
Well — Trained Faculty

(e) Information Technology and its
Advantages

3. Why does the author say that knowledge
has become a commodity?

(@) As it is no longer desirable in any
professional fleld

(b) As there are too many educational
Institutes in the country which do not
provide quality education

(c) As knowledge is now available easily as
compared to the past

(d) As knowledgeable people seil their
Services for the highest price possible

(e) Like commodities knowledge too
becomes stale after a certain period

4. What, according to the author, is a
destructive loop ?

(a) Many people quit their existing jobs to
work in the IT industry which in turn leads
to the downfall of the other industries.

(b) The fact that the best minds do not want
to become teachers and this in turn leads to
good students seeking

knowledge elsewhere

(c) The fact that people working in the IT
industry do not pursue higher studies which
in turn leads to the

deterioration in quality of employees

(d) The unending use of resources by the IT
industry leading to a dearth of resources in
the country

(e) Less grants are being provided by the
Government to academic institutes which in
turn leads to poor quality

students joining the same

5. Which of the following mentioned below
is/are the author’s suggestion/s to promote
interest in Indian academic ?

(A) Research centres should adopt the
corporate culture as is done in the West.

(B) Lessening the number of research
grants given.

(C) Making academic salaries equivalent to
those paid in IT Industries.

(a) Only (C) (b) Only (A)

(c) Only (B) and (C) (d) Only (A) and (C)
(e) None of these

6. Which of the following is NOT TRUE in
the context of the passage?

(A) It is believed that the quality of life is
better when pursuing scientific research.

(B) People currently seek knowledge only
for the greater good of the society

(C) Money is not perceived to be as
powerful as knowledge.

(@) Only (A) and (C) (b) Only (B)

(c) Only (A) and (B) (d) Only (B) and (C)
(e) All (A), (B) and (C)
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7. Which of the following according to the
author, are factors responsible for the
declining interest in scientific research?

(A) Slower progress of work in research

(B) Lesser monetary compensation in
research related activities

(C) Societal perception towards research

(a) Only(A)  (b) Only (C)

(c) Only (B) and (C) (d) Only (A) and (B)
(e) All (A), (B) and (C)

8. Which of the following is true about the
perception towards IT jobs as given in the
passage ?

(A) They are physically tiring.

(B) They are considered to be managerial
level jobs.

(C) They require usage of dishonest means.
(@) Only (B) (b) Only (A) and (B)

(c) Only (C) (d) Only (B) and (C)

(e) All (A), (B) and (C) are true

Directions (Qs. 9-12) Choose the
word/group of words which is most
SIMILAR in meaning to the word
/group of words printed in bold as used
in the passage.

9. CAPACITY

(a) qualification (b) capability (c) voltage
(d) quantity (e) volume

10. ALLUDING

(a) referring (b) breaking (c) escaping

(d) imposing (e) clinging

11. SPECULATE

(a) visit (b) contemplate (c) remark

(d) argue (e) regulate

12. QUINTESSENTIAL

(a) typical (b) different (c) necessary

(d) unique (e) excellent

Directions (Qs. 13 to 15) : Choose the
word/group of words which is most
OPPOSITE in meaning to the word/
group of words printed in bold as used in
the passage.

13. BRIGHT

@soft  (b)dark (c)dull

(d) vivid (e) dim

14. ELUSIVE

(a) definite  (b) happy  (c) mysterious
(d) worthwhile  (e) remarkable

15. FRESH

(@) used (b) stale (c) tired

(d) experienced  (e) aged

PASSAGE I

Hundreds of plants and animals are (16)
every day due to deforestation and
urbanization what might happen if this
continues in the future ? The last mass
extinction of plant and animal species
occurred 65 million years ago with the
Dinosaurs. In all, five mass extinctions have
occurred and scientists (17) earth is in sixth
mass extinction. The world as it is now is
threatened, including people, who are
responsible for earth’s (18). Pesticides
contaminating water; over harvesting of
animals and plants; air pollution; illegal
fishing and the Clearing of land are direct
results of urbanization and deforestation.
People have (19) and damaged almost half
a earth's land, at a very unsustainable rate.
Global warming is having a serious impact
as well. A six-degree Celsius increase in
global temperature killed 95% of All
species on Earth 251 million years ago. An
increase of six-degree Celsius is forecast
this Century if a change is not made to (20)
the damage done to earth. Humans will be
one of the 95% of species lost. Noticeable,
changes of global warming include
migration (21) and the change in season
Urnings. Migrating birds are migrating
earlier, which in turn is causing them to
hatch eggs and (22) young earlier than they
did at the beginning of this Century. While
this is just the tip of the iceberg many other
(23) regarding the extinction of plant and
animal species need addressing. It is more
important now than ever before to pull our
heads out of the sand arid make changes for
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the (24) of the earth. Future generations are

(25), as they are a species as well.

16. (a) killing ~ (b) alive  (c) born
(d) left (e) lost

17. (a) speak  (b) told (c) estimation
(d) believe (e) consider

18. (a) shape  (b) development
(c) deterioration (d) warmth
(e) expansion

19. (a) altered (b) created (c) produced
(d) made (e) brought

20. (a) void  (b) dissipate (c) argument
(d) reverse (e) increase

21. (a) delay (b) birds (c) slowdown
(d) hasten (e) acceleration

22. (a) spare (b) bear (c) destroy
(d) amend (e) generation

23. (a) animals (b) difficulty (c) issues
(d) humans (e) problem

24. (a) extinction (b) better (c) wealth
(d) sugma (e) demand

25. (a) endangered (b) threaten
(c) evaluated (d) living (e) compared

Direction(Qs.26 -31): Read each sentence
to find out whether there is any error in
it. The error, if any, will be in one part of
the sentence. The number of this part is
the answer. If there is no error, the
answer is (e).

26. He is one of the (a) richest man (b) / if
not the richest man (c) / in the world. (d) /
No Error (e)

27. We can almost get (a) / everything in

(b) / this market (c) / at reasonable price. (d)
/ No Error (e)

28. Every (a) Tom, Dick and Harry (b)
drink (c) / wine these days. (d) / No Error
()

29. He and | (a) / is partners in (b) the firm
(c) / named ‘Unique builders’. (d) No Error
()

30. He is one of the (a) / great man (b) that
have (c) ever lived. (d) / No Error (e)

31. The magistrate and collector (a) were
(b) / present there (c) / on the spot. (d) / No
Error (e)

Directions (Qs. 32-37): Read each
sentence to find out whether there is any
error in it. The error, if any, will be in
one part of the sentence. The number of
this part is the answer. If there is no
error, the answer is (e)

32. Many people in India (a) / are dying
from hunger (b) / but government seems (c)
/ to be ignorant of such crude fact. (d) / No
Error (e)

33. In difficult time (a) she prefers keeping
her counsel (b) rather than wandering (c) /
here and there for relief. (d) / No Error (e)
34. The persons who are (a) / suffering

from diabetes are (b) / advised to substitute
(c) / saccharine by sugar. (d) / No Error (e)
35. He always says (a) / that he prefers to
go (b) / home to stay in (c) / a hotel at night.
(d) / No Error (e)

36. Hardly had we settled down (a) / for the
rest (b) / when we were startled by the (c) /
strange sound of trumpets. (d) / No Error
()

37. He was able to (a) / free himself with
(b) / the debts by (c) / working day and
night. (d) / No Error (e)

Directions (Q. Nos. 38 - 42) Each item in
this section has a sentence with three
underlined parts labelled as (a), (b) and
(c). Read each sentence to find out
whether there is any error in any
underlined part and mark your response
to corresponding letter i.e., (a), (b) or (c).
If you find no error, your response
should be indicated as (d).

38. An elec trical circuit ,is the complete
path traversed , by electric current. No
error

(@) (b)

(c) (d)
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39. He waved us a by-by , as he boarded the (c) advocating (d) avoiding

train , which dis appeared into the tunnel. (e) mitigating
No error 46. The climate of our town will
(@) (b) help to recover his
(c) (d) health.
40. There was great deal that had to be (a) enchanting (b) prestigious
scrapped, that must be scrapped; (c) salubrious (d) enriching
(a) (e) proverbial
but surely India could not have been what
she undoubtedly was, Directions (Q. 47-50) : Each question
(b) below has two blanks, each blank
and could not have continued a cultured indicating that something has been
existence for thousands of years. No error omitted. Choose the set of words for each
(c) blank that best fits the meaning of the
(d) sentence as a whole
41. With regard to interior decoration, it is 47. Skeptics would not ............... that the
the attention given to the less overt aspects earth actually moves, let alone that it
ofusingspace L. around the sun.
(a) (a) permit, orbits (b) accept, revolves
that give it life, an identity, a quality that (c) experience, circles (d) assume, went
makes it exciting and unusual. No error (e) challenge, spins
(b) 48. Unpredictable ................... of the child
(©) (d) could not lead the consultants to any
42. A small parcel of novels is better than ~  .................. :
none. No error (a) performance, setting
(@) (b) (b) belief, judgement
(©) (d) (c) operation, purpose

(d) behaviour, conclusion
Directions (Qs. 43-46) : Pick out the most (e) react, decision

effective word from the given words to fill 49. A public servant who is guilty will not
in the blanks to make the sentence ... punishment and no ...................
meaningfully complete. person will be punished.

43. He has a . knowledge about (a) be, sincere (b) flee, guilty

ancient Indian scriptures. (c) defend, common (d) avoid, uniformed
(a) delectable (b) profound (c) enriching (e) escape, innocent

(d) vociferous (e) lamentable 50. Few professions can ............... the sheer
44. Your allegation should be based on variety and constant ................. of being a
facts and not on : doctor.

(a) surr_nisg (b) pro_ofs (a) like, struggle (b) share, enthusiast

(c) projections  (d) antipathy (c) match, challenge (d) draw, work-load
(e) records (e) justify, exception

45. He spent whole of his life in the

miseries of the
downtrodden people.
(a) destroying (b) absorbing
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NDA EXAM
PART'B’
1.Which of the following is not an equatorial crop?
[A] Coconut [B] Rubber
[C] Oil Palm [D] Banana
2.Which of the following countries is not a part of
Melanesia region in the pacific ocean?
[A] Vanuatu [B] Solomon Islands
[C] Fiji [D] Kiribati
3.Which branch of geography refers to the standard
of living and its quality of life of its human
inhabitants?
[A] Development geography
[B] Anthropology
[C] Physical geography
[D] Pedology
4.Which of the following rocks are known as
Plutonic rocks?
[A] Deep seated Intrusive Igneous
[B] Shallow depth intrusive rocks
[C] Sedimentary Rocks
[D] Extrusive igneous rocks
5.Isohaline are the lines joining the points in the
ocean that have equal ?
[A] Density [B] Salinity
[C] Temperature [D] None of the above
6.At which among the following places is located
the head office of International Society for
Mangrove Ecosystems(ISME)?
[A] Manila, Philippines
[B] Jakarta, Indonesia
[C] Okinawa, Japan
[D] Chennai, India
7.What 1s the ”” Sidereal Month ” in Hours , Minutes
and Seconds?
[A] 27 days, 7 hours and 11.6 seconds
[B] 27 days, 8 hours and 11.6 seconds
[C] 27 days, 9 hours and 11.6 seconds
[D] 27 days, 11 hours and 11.6 seconds
8.Which of the following is the largest of the seven
member states of United Arab Emirates?
[A] Dubaiu [B] Sharjah
[C] Ras al-Khaimah [D] Abu Dhabi
9.Which ocean is called “Herring Pond”?
[A] Pacific Ocean [B] Atlantic Ocean
[C] Arctic Ocean [D] Indian Ocean
10.India’s first Nobel Prize for Physics was claimed
in 1930 by the renowned physicist Sir C.V. Raman
for his work in which among the following fields?
[A] Particle Physics  [B] Optics
[C] Thermodynamics[D] Quantum Mechanics
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11.Labrador current is a ?

[A] cold current [B] warm current

[C] Canary Current  [D] None of the above
12.The Bering Strait separates the ?
[A] North America and South America

[B] North America and Asia

[C] Asia & Africa

[D] None of the above

13.A low pressure area in the atmosphere in which

winds spiral inwards is ?
[A] Anticyclone [B] Cyclone
[C] Front [D] Tsunami

14.Karen people are ethnic groups found in which
of the following?

[A] Myanmar and Thailand

[B] Africa

[C] India

[D] China

15.Which among the following is a Biggest Sea by
size?

[A] Mediterranean Sea

[B] South China Sea

[C] Gulf of Mexico

[D] Arabian Sea

16.Which among the following is the most
important character of the ‘Goldilocks Zone  of the
space?

[A] It is a small region which is extremely hot and
presence of most elements in vapor state

[B] It is small region of the space which is
extremely cold

[C] It is a region of space which is neither too hot
nor too cold and has conditions which are a must
for life

[D] It is a region of space which is characterized by
a lot of asteroids

17.Which among the following comes under the
study area of Psychrometrics?

[A] Relative Humidity

[B] physical and thermodynamic properties of gas-
vapor mixtures

[C] theory and technique of educational and
psychological measurement

[D] Atmospheric Pressure at Colder Regions of the
World

18.For how many hours in a day , the people

of Norway experience Sunlight from late May to
late July?

[A] 4 hours [B] 12 hours

[C] 20 hours [D] 22 hours

19.Which among the following atoll is located near
the coast of Maharashtra?

[A] Minicoy Atoll  [B] Ari Atoll

[C] Angria Atoll [D] Truk Lagoon
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20.How many total number of gulfs are there in the
world?

[A] 65 [B] 61

[C] 72 [D] 62

21. Sunrise in eastern Arunachal Pradesh would be
about how many hours before the sunrise in western
Gujarat?

[A] One hour [B] Two hours

[C] Three hours [D] Four hours

22. Consider the following States of India in terms
of percentage of forest area in relation to the total
area of the State :

1. Karnataka 2. Odisha

3. Kerala 4. Andhra Pradesh

Which one of the following is the correct
descending order?

[A]1-2-4-3 [B] 3-1-2-4

[C] 3-2-1-4 [D] 2-3-1-4

23. Which one of the following States in India has
the longest coastline?

[A]Odisha [B] Tamil Nadu

[C] Karnataka [D] West Bengal

24. Which one of the following States in India has
the largest area under forest cover?
[A]Maharashtra

[B] Chhattisgarh

[C] Madhya Pradesh

[D] Andhra Pradesh

25. Which one of the following is not an igneous
rock?

[A]Gabbro [B] Granite

[C] Dolomite [D] Basalt

26. The Coriolis effect is the result of

[A]Pressure gradient

[B] Earth’s axis of inclination

[C] Earth’s rotation

[D] Earth’s revolution

27. Where is Mekong Delta located?

[A]Thailand [B] Cambodia

[C] Myanmar

[D] Vietnam

28. Which one of the following pairs of rivers and
tributaries is not correctly matched?

[A]Godavari : Indravati

[B] Ganga : Penganga

[C] Krishna : Bhima

[D] Luni : Sukri

29.Which among the following plan document has
a subtitle ” Inclusive growth” ?

[A] 10th Five year Plan

[B] 11th Five year Plan

[C] National Solar Mission

[D] Bhart Nirman
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30.By which year India will align its accounting
practises with over 100 countries by adopting the
International Financial Reporting Standards ?
[A] 2009 [B]2010 [C]2011 [D]2012
31.  Which one of the following pairs of the
Schedule in the Constitution of India and its
Content is not correctly matched?

Schedule Content
a) Eighth Schedule : Languages
b) Second Schedule : The forms of oaths and
affirmations
¢) Fourth Schedule
Council of States
d) Tenth Schedule : Provision as to
disqualification on the ground of defection
32. Consider the following statements:
1. The Constitution of India empowers the

: Allocation of seats in the

Parliament to form new States and to alter the areas,

boundaries or names of existing States by passing a
resolution in simple majority.

2. Jammu and Kashmir has been given special
status under Article 370 of the Constitution of
India.

Which of the statements given above is/are correct?
(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

33. The Speaker of the Lok Sabha may resign his
office by writing, addressed to the

(a) President of India

(b) Prime Minister of India

(c) Vice President of India

(d) Deputy Speaker of the Lok Sabha

34. The Election Commission recognizes political
party as a national party if

1. it secures at least six percent of the total valid
votes polled in four or more States in a general
election to the Lok Sabha or to the State Legislative
Assemblies.

2. it wins at least four seats in a general election to
the Lok Sabha from any State or States.

Select the correct answer using the code given
below:

(@) 1 only (b) 2 only

(c)Both1land 2 (d) Neither 1 nor 2

35. Consider the following statements:

1. The Amendment procedure has been provided in
Article 368 of the Constitution of India.

2. The consent of the States is mandatory for all
Amendments to the Constitution of India.

Which of the statements given above is/are correct?
(@) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2
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36. Which of the following statements relating to
the Comptroller and Auditor General (CAG) of
India is/are correct?

1. The CAG can attend the sitting of the
Committee on Public Accounts.

2. The CAG can attend the sitting of Lok Sabha
and Rajya Sabha.

3. The jurisdiction of CAG is co-extensive with
powers of the Union Government.

Select the correct answer using the code given
below:

(@) 1 only

(b) 2 and 3 only

(c) 1and 2 only

(d)1,2and 3

37. Which of the following statements relating to
election as the President of India is/are correct?
1. A person above the age of thirty-five years is
eligible for election as the President of India.

2. The President of India is eligible for re-election
for more than one term.

3. A person is not eligible for election as the
President of India if the person holds and office
of profit.

Select the correct answer using the code given
below:

(a) 1 and 2 only

(b) 2 only

(c)1,2and 3

(d) 3 only

38. The citizens of India do not have which one
of the following Fundamental Rights?

() Right to reside and settle in any part of India
(b) Right to acquire, hold and dispose of property
(c) Right to practice any profession

(d) Right to form co-operative societies

39. The Prime Minister must be a member of
which of the following houses?

(a) Lok Sabha

(b) Rajya Sabha

(c) Either of the houses

(d) Not a necessary condition being a member of
either house

40. In which of the following cases the Council of
Ministers gets dissolved?

(a) Resignation of Prime Minister

(b) Death of Prime Minister

(c) In either of the above cases

(d) None of the above
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41 Supreme court of India tenders advice to the
president of India on matters of law or fact
1.Binding on the president of India

2.Not binding on the president

which of the statements given above is /are correct
n

Choose the correct answer using codes given below

(A) 1only (B) 2 only

(C) both 1 and 2 (D) neither 1 nor 2

42 To become a governor of the state one should

1. Be a citizen of India

2.Attained the age of 30 years

3.Not be a member of either house of parliament or
any state legislature

4.Not hold any office of profit under the central or
state government

which of the statements given above is /are correct
n

Choose the correct answer using codes given
below:

(A)1,2and 3 (B)1,3and 4
(©)1,2,3and 4 (D)1,2and 4

43 The chief justice of India can appoint officers
and servants of the supreme court on constitution
with the

(A) Attorney general of India

(B) president’s approval

(C) Union public service commission

(D) Other judge of the Supreme Court

44 What is the system of governance in the
Panchayat raj set up ?

(A) Single tier structure of local self government at
village level.

(B) Two tier system of the local self government at
the village and block level

(C) Three tier structure of self government at the
village, block and district levels.

(D) Four tier structure of self government at the
village, block, district and state levels

45 Which one of the following statements is correct
? the prime minister of India

(A) Is free to choose his minister only from among
those who are members of either house of the
parliament.

(B) Can choose his cabinet colleagues after due
counseling by the president of India in this regard.
(C) Has full discretion in the choice of persons who
are to serve as ministers in his cabinet

(D) Has only limited powers in the choice
colleagues because of the discretionary powers
vested with the president of India.
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46 Which of the following are envisaged by the
right against exploitation in the constitution of India
n

1. Prohibition of traffic in human beings and forced
lobour

2. Abolition of untouchability

3. Protection of intrest of minorities

4. Prohibition of employment of children in
factories and mines.

Choose the correct answer from the codes given
below :

(A)land 2 (B)land 3

(C)2,3and 4 (D) 1and 4

47 If the male citizen were conscripted in
accordance with the fundamental duty of defending
the country, the law would

(A) Be unreasonable because it does not provide for
categories

(B) Amount to discrimination on the basis of
gender

(C) Not be in conflict with any of the provisions of
the constitution

(D) Amount to discrimination on the basis of
education

48 Disqualification on ground of defection for a
member of parliament will apply ?

(A) in case of a split in the original political party to
which he is elected

(B) if he has voluntarily given up his membership
of a political party

(C) if he abstains from voting in the house contrary
to the direction of the political party

(D) if a nominated member of a house joins a
political party after six months

49 Decision on question as to disqualification
membership of either houses of parliament rests
with the ?

(A) Election commission

(B) House of parliament concerned

(C) Chief justice of India

(D) president after consultation with the election
commission

50 The authority to specify which castes shall be
deemed to be scheduled castes rests with the

(A) president (B) governor

(C) prime minister

(D) commission for scheduled castes and tribes

51. Who among the following is the author of the
book The Indian Struggle, 1920 - 1934?

(a) Maulana Abul Kalam

(b) Jayprakash Narayan

(c) Subhash Chandra Bose

(d) Manabendra Nath Roy
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52. Which one of the following about the Swadeshi
Campaign in 1896 is not correct?

(@) Its centre was Maharashtra

(b) Its main participants were students

(c) It opposed the levy of tariff on imports

(d) It publicly burnt foreign clothes

53. Which one of the following associations was
founded in London by Dadabhai Naoroji in 18667
(a) The Bengal British India Society

(b) The East India Association

(c) The British Indian Association

(d) The Madras Native Association

54. Which one of the following statements about
the Ilbert Bill is correct?

(a) It proposed that the Indian magistrates would try
Europeans in criminal cases.

(b) It allowed Indians to file criminal cases against
Europeans.

(c) It authorized Indian ICS officers to try
Europeans in courts.

(d) It was an agitation led by Ilbert in support of the
nationalists.

55. Who among the following was the founder of
the Avadh Kingdom in the 18th century?

(@) Murshid Quli Khan

(b) Saadat Khan

(c) Alivardi Khan

(d) Sarfaraz Khan

56. Who among the following was the founder of
the Young Bengal Movement?

(a) Henry Vivian Derozio

(b) David Hare

(c) Dwarkanath Tagore

(d) Prasanna Kumar Tagore

57. Which one of the following statements about
the Quit India Movement is not correct?

(@) It broke out in August 1942.

(b) Ahmedabad Textile Mills went on strike for
more than three months.

(c) Muslim League and Hindu Mahasabha actively
participated in the movement.

(d) Communist Party did not support the movement
58. Consider the following movements:

1. Moplah Rebellion

2. Bardoli Satyagraha

3. Champaran Satyagraha

4. Salt Satyagraha

Which one of the following is the correct
chronological order of the above in ascending
order?

(@) 1-3-4-2
(c) 2-3-1-4

(b) 3-1-2-4
(d) 4-2-1-3
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59. Which one of the following travelogues has
given an insight on the reign of Muhammad Bin
Tughlag?

(a) Ibn Battuta's Rihla

(b) Francois Bernier's Travels in the Mogul Empire
(c) Niccolao Manucci's Storia do Mogor

(d) Tavernier's Travels in India

60. Consider the following statements about the
Nagara style of temple architecture:

1. This style of temples are commonly found in the
areas between Himalayas and Vindhyas.

2. The most striking feature of this style is its
pyramidal shikhara.

Which of the statements given above is/are correct?
(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

61.In which year Bombay Stock Exchange was
established?

[A] 1865 [B] 1875

[C] 1880 [D] 1890

62.The first step towards electronic bond trading in
India was the introduction of the RBIs Negotiated
Dealing System. In which year NDS was launched?

[A] 2000 [B] 2002
[C] 2003 [D] 2004
63.In September 1999, which organization

established the Poverty Reduction and Growth
Facility (PRGF) to make the objectives of poverty
reduction and growth more central to lending
operations in its poorest member countries?

[A] Asian Development Bank

[B] International Monetary Fund

[C] World Bank

[D] US Federal Bank

64.Lessor and Lessee is a relationship between a
bank and its customer in which of the following?
[A] Cash Deposits

[B] Loans

[C] Securities

[D] Safe Deposit Locker

65.National Rural Credit Stabilization Fund is a
Institution of purpose-specific funds in which of the
following?

[A] IDBI

[B] SIDBI

[C] IFCI

[D] NABARD

66.Which among the following is an essential
feature of a commercial bank?

[A] providing Locker facilities

[B] dealing with credit

[C] providing business information and data

[D] Sale of securities
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67.Which among the following is India’s largest
multi-state co-operative bank

[A] Vijaya Bank [B] Saraswat Bank

[C] Union co-operative bank

[D] The Madhya Pradesh Rajya Sahakari Bank
68.India’s first mega food park is located in:

[A] Delhi [B] Haridwar

[C] Chandigarh [D] Lucknow

69.Which among the following is one among the
five indicators used by the United Nations
Development Programme in its annual Human
Development Report for Gender related standard of
living?

[A] Gender Development Index

[B] Gender Empowerment Index

[C] Gender Empowerment Measure

[D] Gender Parity Index

70.Which among the following organizations holds
the largest stake in India’s top depository, National
Securities Depository Limited (NSDL)?

[A] National Stock Exchange

[B] IDBI Bank

[C] Specified Undertaking of the Unit Trust of
India (SUUTI)

[D] Bombay Stock Exchange

71.Since 2013, the Odisha government has banned
the mechanized fishing within 20km of the state’s
coast predominantly for the protection of which of
the following fauna?

[A] Olive Ridley Turtles

[B] Salt-water Crocodiles

[C] Hilsa Fish [D] Mangrove crab
72.Which of the following is a biodiversity hotspot
in India?

[A] Eastern Himalayas [B] Eastern Ghats

[C] Western Rajasthan[D] None of the above
73.Which of the following is not a primary
greenhouse gas found in earth’s atmosphere?

[A] Carbon dioxide [B] Methane

[C] Water vapour [D] Nitrogen oxides (NOXx)
74.Project Elephant was launched by the
Government of India in which among the following
years?

[A] 1992 [B] 1993

[C] 1994 [D] 1991

75.Which among the following National Parks /
Wild Life sanctuaries of Tamil Nadu is called as
Top Slip?

[A] Aanamalai National Park

[B] Mudumalai Wildlife Sanctuary

[C] Guindy National Park

[D] Palani Hills National Park
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76.The “Hkakabo Razi” which is famous for
Hkakabo Razi National Park, is a border tripoint
between which among the following countries?
[A] India-Nepal-China

[B] India-Bhutan-China

[C] India-Bangladesh-Myanmar

[D] India-China-Myanmar

77.India’s first Butterfly Park was established at
which among the following National Parks?

[A] Bannerghatta National Park, Karnataka

[B] Nagarhole National Park, Karnataka

[C] National Zoological Park Calcutta

[D] Kaziranga National Park, Assam

78.which of the following reserves holds the
unfortunate distinction of becoming the first tiger
reserve in India to lose all its wild tigers to
poaching and forest degradation?

[A] Jim Corbett

[B] Sariska

[C] Manas

[D] Gir national park

79.National Tiger Conservation Authority (NTCA)
was constituted in:

[A] 2005 [B] 2006

[C] 2007 [D] 2008

80.Which among the following is commonly found
in Gulf of Kutch, Gulf of Mannar, Andaman &
Nicobar islands, & Lakshadweep?

[A] Marshy areas

[B] Coral Reefs

[C] Deep water Marine Ecosystems

[D] Mangrove vegetation

81.Presence of which among the following salts in
water causes “Blue Baby Syndrome™?

[A] Sulphates [B] Chlorides

[C] Carbonates [D] Nitrates
82.Plasmodium falciparum, which causes malaria
in humans is kept in which among the following
groups?

[A] Bacteria [B] Viruses

[C] Protozoans [D] Fungi

83.In which among the following categories,
Nepenthes khasiana or Indian Pitcher Plant can be
placed?

[A] Saprophyte

[B] Xerophyte

[C] Insectivorous

[D] Halophyte

84.Calcitriol is the biologically active form of
which among the following Vitamins?

[A] Vitamin B [B] Vitamin C

[C] Vitamin D [D] Vitamin E
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85.1n genetics, the Reverse transcriptase helps in
which among the following transcriptions?

[A] Single stranded DNA into double stranded
DNA

[B] Single stranded RNA into double stranded
DNA

[C] Single Stranded RNA into double stranded
RNA

[D] Double Stranded DNA into single stranded
RNA

86.Which among the following diseases is
characterized by “complete loss of memory”?
[A] Amnesia

[B] Schizophrenia

[C] Alzheimer’s disease

[D] Parkinson’s disease

87.Which among the following is correct about B
group Vitamins?

[A] Most of them are organic acids

[B] Most of them are water soluble

[C] Most of them are synthesized in the body
[D] All are correct

88.How many pairs of ribs are there in a human

body?
[A] 10 pairs [B] 12 pairs
[C] 14 pairs [D] 16 pairs

89.Which among the following diseases is also
known as “Pink Eye”?

[A] Conjunctivitis  [B] Myopia

[C] Astigmatism [D] Presbyopia

90.MON 863 is a genetically engineered variety of
which among the following?

[A] Soya Bean [B] Maize

[C] Rice [D] Tomato

91.Who wrote the book New Dimensions of India’s
Foreign Policy?

[A] Atal Bihari Vajpayee

[B] Abdul Kalam Azad

[C] Amit Chaudhuri

[D] Raghuram Rajan

92.Who wrote the book India Wins Freedom?

[A] Akhilesh Tilotia

[B] Amitav Ghosh

[C] Abdul Kalam Azad

[D] A. B. Vajpayee

93.Which of the following books have been written
by Abul Fazal?

[A] Ain-i-Akbari [B] Akbar-Nama

[C] Both of them [D] None of them

94.Who wrote the book Wealth of Nations?

[A] Raghuram Rajan

[B] John Maynard Keynes

[C] Adam Smith [D] None of the above
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95.Who wrote the book The Making of
India?

[A] Akhilesh Tilotia

[B] Amartya Sen

[C] Amit Chaudhuri

[D] Amitav Ghosh

96.Which of the following is not a correct
statement about Bitumen?

[A] It’s a mixture of highly condensed
polycyclic aromatic compounds

[B] Its is soluble in Carbon Disulphide
[C] SARA analysis is used to determine
bitumen chemistry

[D] All of above are correct statements
97.Which among the following is the
correct set of chemical formulae of Chile
Saltpetre, Saltpetre and Quick Lime?

[A] KNO3, NaNO3, CaO

[B] NaNO3, KNO3, Ca(OH)2

[C] Na(OH)2, KOH, CaO

[D] NaNO3, KNO3, CaO

98.Which of the following is the most active
chemically?

[A] Chlorine

[B] Flourine

[C] Lithium

[D] lodine

99.Which of the following is an alkaline
earth metal?

[A] Pottasium

[B] Lead

[C] Copper

[D] Calcium

100.The Alkali metals are called good
reducing agents. This implies that

[A] They easily capture electrons

[B] They are not stable at room temperature
[C] They easily lose electrons

[D] They don’t act with dilute acids
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